
Answer on question 34208 – Math – Statistics and Probability 

Body temp is normally distributed. Average temp is 98.2 with a standard deviation of 0.7. 

Suppose that nurse takes the body temp of 10 patients. What is the probability that at least two of the 

patients have body temps that exceed 98.6. 

Solution 

Let the random variable X is the body temperature. X is normally distributed. 

Let us find the probability that one patient have body temps that exceed 98.6. 

𝑃(𝑥 > 98.6) = 1 − 𝑃(𝑥 < 98.6) = 1 − Ф (
98.6 − 98.2

0.7
) = 1 − Ф(0.57) = 0.7843, 

Where Ф(0.57) we take from the table http://www.mathsisfun.com/data/standard-normal-distribution-

table.html 

The probability that at least two of the 10 patients have body temps that exceed 98.6 is 

𝑃(𝐴) = 1 − 𝑃({𝑛𝑜𝑏𝑜𝑑𝑦 have body temps that exceed 98.6}) − 

−𝑃({𝑜𝑙𝑦 𝑜𝑛𝑒 𝑝𝑎𝑡𝑖𝑒𝑛𝑡 has body temps that exceed 98.6}) = 

= 1 − 0.215710 − 𝐶10
1 0.21579 ∗ 0.7843 ≈ 0.99999. 

Answer: 0.99999. 
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